il 9 BlaiiVl all

aJl VIl b xpahadl 8 £ @l inieod] saell cowst wyyeill Jlosiwl
Xo=2 ;f(x)=2xx+_11 /2 xo=1 ;f(x)=x3+x2—l /1

xozg ; f(x)=sinx /4 x,=-1 ;f(x):x+xl /3

xo=0 ; f(x)=sinx +tanx /5

o9 xpahsdl 8 f alal) ,ludl e gl sa2ll 9 ueddl (sde o]l saell sa>
aJUl WV

x,=0 ;f(x)=x12+_||_l7| /2 x,=0 ;f(x)=x+x|x| /1

x,=0 ;f(x):‘x2+2x‘ /3

Il oVl (b xpahasidl 8 /1 Blaiil Guysl

sinx xP+x =2
= 0 =
xo=0 ; {f(x) x r /2 x,=1 ; {f(x) x —1 x =1 /1

£ (0)-1 £()=a
x,=0 ;f(x):x X /4 xo=1 ;f(x):x+|x—l| /3
xg=0 ; f(x)=x’[sinx| /6 xo=2 3 f(x)=(x-2))-2[ /5
f(x):xzsin(i] ‘%0 f (x)=sinx x >0
xo=0 ; x /8  x,=0 ; 2-2cosx 17
f(O):O f(x)z x <0

xo=2 5 f(x)=Vvx?-2x /9
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aJUl OVl s assiiuwoll dladl sa> 0i 11 alul Blacw! a,B Gw)sl
_x -l - x)=5x+x% —x
f(x)_2x+1 /3 f(x)_x2+1 /2 f(x)=5x"+ +2 N
f(x):(x2_2)5 /6 f(x)=xsinx /5 f(x)zjji-i /4
f (x)=(sinx)(cos(3x +4)) /8 f(x):‘xz—x‘ /7
f(x):\/x2—3x +2 /11 f(x)=~-2x+3 /10 f(x)zlian,x /9
sinx
5.1 0

g(x)=x’-x 3 f(x)=tanx 4 Guidy=0 Guills g9 /1 iz
£ (~0,99) o £ (0,001)J &80 aays acl g 0 aaaill b f &l duvlowll aallill &l sa> -1
2(2,001)J &80 &ogd bacl s 2 dhadl 58 g @la) (uziol) pulaall @slse 51> -2
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2 _3x +6
f(x)=%
Logaidslen ST y = -3x adsles Sl pusiawoll Guslsn Gulon Juts €, izindl Ol o
7200
aJUl V=l (88 wog Ol Lpay,lne guiiwl 9 /7 @ladl Wlhusi sl
f(x):xz(x—l)2 /2 f(x)=x’+3x?-9x+1 /1
2
f(x):w /4 fx)=x*-]x| /3
x =5
x3 X
f(X) x?+1 / f(x) x?=3x +2 /
8.0
2

g(x)=—1+x7+cosx of (x)=x—sinx o guidm0 guill> g9 [ iz
Vx e[0;+00 f(x)=0 ; g(x)=0 Ol G

9u 1o
f(x)=sinx 4 adeall {1 Al juie

£ oall n &yl oo asiiwed! cowsl
10, 0J

L a8,20)l cisandl ytial) £ dpaall Wl e

lim f (x)s Dy sa>-I -1

|x [>+00
lewaid golidl J ol 9-19 1 aie £ &l s3> -0
lewid aseidl Jsl 9 0 (b Blal gyl -2
Dy —{0} oo x JSJ f'(x) >2> 43

[ obusi gyl o
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